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Question Number : 1 Question Id : 1017174321 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If [*] denotes the greatest integer function and if 7 (5.10) — (7. 12) is a function defined

-~

by f(x)=x+ 2[%] . then

£9 L

-

. - 2 . X
[*] 03 &g Sogrg ©iesrR) dras, f:(5.10) —>(7.12) @desr), f(x)=x+ sz

Options :

L ) =x -1
o @ =xt2

W, OUE

£~ 1(x) does not exist

L2

e ;
i (%) aﬁi}bgpﬁf_} 5t

Question Number : 2 Question Id : 1017174322 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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If [] denotes the greatest integer function. then the domain and range of the function

. sin[x]r+tan[x]x

f(x) L+ [P IsT

are respectively

sin[x]x + tan[x]x
1+ [.\’]2 +[xT?

[*] 562 558 Hogrg Haoird) drd, f(x)=
5 o i =

€2

EHoH0 D), HBFS0

00050 argey S
Options :

. R—{0}. R~ {0}
R{0)

; RT.R
, R.{0}

-2

Question Number : 3 Question Id : 1017174323 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The least positive integer greater than 1 that divides 49" +16» —1 for all positive integers
n1s

©)) G& JrgrosTed n o, 49" +16n—1 & grAoB 288 $0B I8y I §U2 &S oo
Options :
. 64
2 49

3.

R

4.

Question Number : 4 Question Id : 1017174324 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If A 1s a matrix of order 3 whose determinant is equal to 6. then det(adj 4) =

ATEES0 6 o Sr@E A 553700 3 wond, wiyd det(adj 4) =
Options :

i 6

1. 36

;3 216
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Question Number : 5 Question Id : 1017174325 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If A and B are square matrices of order 3. then | (A —AF ) + (B _BT ) | =

A 58050 B oo H58:57e00 3 Ko SSHEE Sri@soons, ehvyed

AT)+(B-B)|-
Options :

. 2IAl

. 2B

;. 2(1A]+[B))

4 0

Question Number : 6 Question Id : 1017174326 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The system of equations x + y +z =5, x + 2y + 3 =9 and x + 3y + Az = p has unique
solution if

x+y+z=5.x+2y+3:2=9 58055 x+3y+ k= p &3 588D DINAISEY D88 ;S
& 0B 008

Options :

, A=15, p=10

s =5, nu=10

s AeRop=5

4 h£5, = R

Question Number : 7 Question Id : 1017174327 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If a and ¢ are complex numbers and b is a real number in the Argand plane. then the
perpendicular distance from c to the line sz +az+5=0 1s

706 S00&° a.c e <ao§c5 Somgen bas TiS dowg wond, cdok az+a=+b=0
JEE0PH ADS odrd0
Options :

(ac +ac+b)

T 20al M collegedunia




-{EC_‘+EIC+E?)

2, 2]al

.(ﬂf_‘+ﬁf+b}

) |a
'{ﬁ+b+F)
s 2|aj

Question Number : 8 Question Id : 1017174328 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
5+2i 3—-4i 1

The real part of the complex number = = e S
25 4430 i

)
5
s
O

H08g Howg == - — -——, 3. TS

Options :
;-2
2. 0
3.
g 4

b

Question Number : 9 Question Id : 1017174329 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If - iz and = + iz are the vertices of a triangle and if |z|=4. then the area (in sq. units) of that
triangle. is

2l =4 0y s>, 2. iz 50050 = +izen &8 (BeHo BwE), 3TB3B, & HZHeo DN IFTVLo
(63 ol U oz
(5. a3 ey 65°)

Options :

L 4
8

3 16
4 32

13

Question Number : 10 Question Id : 1017174330 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

2% T ) . .
00  (2nx ' 2nm )
sin| —— | —icos| = ' =

3y

n=1L 21 21 gcollegedunias




Options :

1 L
3
3. 1
4. —1

Question Number : 11 Question Id : 1017174331 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The integral value of k for which x* — 2(4k —1)x+15k* —2k—7> 0 forallx € R is

©d) ¥ € Rog, x°—2(4k-Dx+15k> —2k—7>0 wchgtn &od k Sng, Srgos

)
DD
Options :

L 2

Lid

2
3 1
4 4
Question Number : 12 Question Id : 1017174332 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Ifxl. X5 are the roots of 4x> —4x+1=0 and X,. X, a1e the roots of BxZ —6x+1=0 such

: . ; B+ A4
thatx,. x, x; x, are in harmonic progression. then =
1 23 31 4 ~ B A

< 5 . . 2 z
X1. X5 Xa X, 00 50078 BHS° wobor, X, x; 00 Ax” —4x+1=0 § Sorereow, x,. X, 00
174273, %4 ¢ 1273 24

.B+A_
B-4

b 5 _
Bx"—6x+1=0 § Hrreroons, @Y

Options :
11
3

—_
| —

7. 3
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Question Number : 13 Question Id : 1017174333 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If o and B are the roots of ax® + by + ¢ = 0. then the roots of ax” — bx(x—=1)+c(x— 1)2 =1
are

o. P e a* +bx+c=0 B0E), DFere0NE, ax? —bx(x—D+c(x=1)>=0 FB0E),

Sorerren)
Options :

a+l B+1

Question Number : 14 Question Id : 1017174334 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the roots of the equation x° —40x* — Px> —Rx— S =0 are in geometric progression
and the sum of the reciprocals of the roots is 10. then [S| =

v —40x* =P —Ry—S=0 58520 BnE), Trored $eEES° ok, & Sorere
B0, HgE), e Ingo 10 wond, S| =

Options :

1. 8

[

6
3 32
4 64

"'l

.

(]

Question Number : 15 Question Id : 1017174335 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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The number of all four digit numbers which do not have four distinct digits 1s

“a

JPeNy woseTr Sé’)a”)o S*EI0T 0B J‘%l T wose QoPYL Do

Options :

1. 4464
. 4848
3. 4355
4 4454

L2

Question Number : 16 Question Id : 1017174336 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The number of ways of arranging the letters of the word BANANA so that the two Ns do not
come together, 1s

Bocd New 2,80 38,8 56788 od o BANANA o3 H565065°) e§oredh @S8{on
DEdne Sowg

Options :

. 60
» 80
3 40
4 120

Question Number : 17 Question Id : 1017174337 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

: , 8
N ” x ; . 2 3 .
The coefficient of x'° in the expansion of (1 +Xx°—x ) is

' 2 3\8 ., .. ¥R
(1-:-.\‘ — ) JaGenes® x c‘m)éz, 80

-0

Options :

1.506
» 496

3 486
4. 476

Question Number : 18 Question Id : 1017174338 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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" 911 2 2 :
If (1+ X+ x‘) =y +aX+aX" +..+ay,x".then ag+a, + a4 +...+ a5, =

{ 2\ . 2 2n wa : \
(1+\‘+’( ) 200*(11\%—(12\‘ *..+(12n.\‘ ”3“OW&, (10 —(12+(l4--+(12n

Options :

F
{3

=

|
-1

fad

"'l

Ld

-2

3" +1

4. 2
Question Number : 19 Question Id : 1017174339 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical .
. 3 ; ; .
The values of x for which > has an expansion and the coefficient of x” in
(x=1D"(x=2)

such expansion are respectively

5 n
NGBSt x 8 SHOdm

(3

X y .
DPBB FEFDS X Jewdor, wirodd IY

(x=1%(x=2)
Options :

|xf<l 1—p——r
j?i‘

1 2
| x|< E.I—Hr—L
2 2"
5 |x|<1,0
1
S
4, S 2

Question Number : 20 Question Id : 1017174340 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

The value of cot 70° + 4 cos 70° 1S

ot 70°+4cos70° G0, Jend
gcollegeduniag

Options :



T

2 A3
5 243
1

4 2

Question Number : 21 Question Id : 1017174341 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

\/f—sina—cosa B

Sin o —Cos o
Options :
f &8 )
SEC] —
. 2 8
1 Pt
T o)
cos| — —‘
. A8 2
o 9t
tan| — ——
5 2 8,
e )
cot| ———
4, \Z 2,

Question Number : 22 Question Id : 1017174342 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If sin(x+3c)+3sim(x—o)=0. then

sin(x+30)+3sin(x—o) =0 ®ons, wdvd

Options :
| tfanx=tan o

tan x=tan’ o

L2

; tany=tan’ o

fan x = 3tan o

+=

Question Number : 23 Question Id : 1017174343 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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X X
If cot; — cosec — cot x. then the values of x are

X X :
cot;— cosec— = COtx OB, x denden
Options :
1 2HT
2%
dnm £ —
T
2nm+ —
3. 3
4 NT

Question Number : 24 Question Id : 1017174344 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

. : ” ; o . 1%z .
The number of solutions of the equation 2Cos ™ x +Sin'x = 3 18

2(’05_1.\‘+Sin_1.\‘:% HaE8E S0 Gg), FEddne dopg
Options :

. 0

21

3.2

4.3

Question Number : 25 Question Id : 1017174345 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If Sinh™(2) + Sinh ™ }(3) = «.. then sinh . =

Sinh~1(2) +Sinh™1(3) = @on3, @HPE smh o =

Options :

i 281310
1 310435

1 2410 +2./5

. 23104345 ,
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Question Number : 26 Question Id : 1017174346 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In AABCifa=2band | A-B|= " then’ /C=

UJ|

AABC* g =2b. 3506050 wond, /C=

A-B|=

u)|::|

Options :

g wa oA

P
A

Question Number : 27 Question Id : 1017174347 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The base of a triangle is 80 and one of the base angles is 60°. If the sum of the lengths of the
other two sides is 90. then the shortest side 1s of length

a8 (Gehuo DwE) wprdebao ardy) 80 Hd0S el Ferees® sl 60°. DAdS Dok
ghere EIo IngIn 90 wond, D hHadn EDH

Options :

1 15

7, 21

319

4 17

Question Number : 28 Question Id : 1017174348 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

InAABC.if 3 =3.7 =10 and 75 =15. thenR =

AABCe*® 13 =3.7,=10. 13 =15
Options :
i3

2,12

N
I
(@]
o
(21h
o)
[l
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Question Number : 29 Question Id : 1017174349 Display Question Number : Yes Single Line Question Option : No Option
Orlentatlon Vertical

If @. b are two non-parallel unit vectors and the vector o.@+ b bisects the internal angle

between @ and b . then o is equal to

a.b ex Bok ddrosoren 500 0HrHE HETen 0605 aa+b o3 H&E a. b o

aacséﬁ@ 8083 ?W:J\ S é}égmofﬁé E‘m, Z} ¢80 oL D

Options :

11

2
U R |

Question Number : 30 Question Id : 1017174350 Display Question Number : Yes Single Line Question Option : No Option
Orlentatlon Vertical

If OA=3i +j— |AB |=2+/6 and the direction ratios of AB are 1.—1.2 then |OB |=

OA=37+]—k.|AB|=26 %005 AB g, 65 JRxyHen 1.-1. 2 wond, |OB|

Options :

W

Question Number : 31 Question Id : 1017174351 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Let . b. ¢ be three vectors such that |7 |5z |=1. | b |=4.|bxc |=+/15 . If ha=b - 2¢.
then the value of % 1s

|5|=|F|=1-|5|=4-|5><C_’|=\/ 2 “0_'33“" o a.b.c o ord Ho%ey. ha=b-2c

WONB, A JHend ]
collegedunia;

Options :



L
H H
| R

H H
[N

Ia

Question Number : 32 Question Id : 1017174352 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Let i7.7.7% be vectors such that [i7|=1.[7|=2.|if|=3. If the projection of ¥ on 7 is equal to

that of i on 7. and the vectors 7. are perpendicular to each other, then |17 -+ 171 =

2 22 T 2 WA

|71"l=1,|?|=2,|1"v|=3 w@ogldnn .V, W S&Fen ﬁmz_oﬁaé;g"oa"o. i 2 v GE) I8N0,

0P W JErO8 BIrSIN HrBon V. HEFen HENG0 ©owon €0, Wy |ﬁ—T‘+1T1=

Options :

2

7
, i

4. 14

13

Question Number : 33 Question Id : 1017174353 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the vectors ..z satisfy the condition |7 —¢| = ‘17 —F‘ . then (b ~a). [F = ;b ) B
a.b.c o3 360 [T—C|=b —Td &5 608, wdyd: (b —a) LF—G;Z)} B
Options : -

10

2 —1

31

4.2

Question Number : 34 Question Id : 1017174354 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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For two given vectors @ and b ifthe vectors A. B are such that A+B=#. AxB=b and

A.a=1 then A =

Options :

(E}(E)'l—ﬂ

Question Number : 35 Question Id : 1017174355 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

= . . . . 1] Y |
The mean of numbers a, 5. 8. 5. 10 1s 6 and their variance 1s 6.80. Then Tan T Z =
a

a, b, 8. 5, 10 Sopge 308, HEgo 6 08050 ¢ D898 6.80 20008, @V
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Question Number : 36 Question Id : 1017174356 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the coefficients of variation of two distributions are 60 and 70 and their standard
deviations are 21 and 16 respectively. then their arithmetic means are respectively

B0k Jzreare d¥egrosten 60, 70 8050 a7¢3 B dbearen Sdm 21, 16 ®o0sE,

a8 o8 ;53@55;35"@.3 SOHmr

Options :
| 35.

)
-2

fad

-

I3
oo Lh
> o0 oo
h Uh

3

-

Lk
LN
-2
(w2

3

fad
LA
-2
)
I-2
L

4.

Question Number : 37 Question Id : 1017174357 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

IfE,. E, are two events of a sample space such that P(’E1)=%.P( E, | E; )=% .P(E, |E, )=%.

then-P('E1 |E, )=

P(El‘):i.P(Ez | E1)=%.P(E1|E2)=i wohgtotnm Eq, Eyen a8 708 s360e5°)

2
W | ko = | =

Question Number : 38 Question Id : 1017174358 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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. . g
If 4 and B are any two events such that P(4U B )=—.P(4n B)zi and P ( A)==_then

4

| —

the events 4 and B are

1 1 N
P(AuB)zg.P(AmB)zz 500050 P(A)=Z wG0gtn IPT Botk Hrdaden 4, Ben

&0, sHwden 4, B
Options :

Equally likely but not independent
dHodogfaren 570 dSoEren 5D
Equally likely and mutually exclusive

DnHogiaTren $HBA5n HENE DHYeTen

Mutually exclusive and mdependent

5 D60 DHPeren H0sn HyFoEren
Independent but not equally likely

, SgSoEmen 579 Hdododaren 5T

Question Number : 39 Question Id : 1017174359 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
(k+Da

For arandom variable X if P(X=Fk)= v fork=0.1.2....thena=

a8 OIS Soo3 X'§ P(sz)z(l‘ j—kl)a . k=0,1.2, .. ®008 eodyd a=
Options : ’
2
L3
o
B
.5
3. 27
16
4 81
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Question Number : 40 Question Id : 1017174360 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

On an average if one out of 100 electric bulbs produced by a Company is found to be

defective, then the probability that there are at least two defective bulbs in a consignment
of 600 bulbs. 1s

2,8 §0d SasrHdw 100 ‘DP"L DONOS® B w8 ey G0 SDASGH €08,

600 enyen o &8 HS50T" 000" E0d0 Bodd G'ho KONSE weyey woB Hoerdgd
Options :

i 1—Te®
7 1—6e6
3 1 —6e1
4 1 —8e

Question Number : 41 Question Id : 1017174361 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If 4= (a.0) and B= (—a. 0). then the locus of a point P such that PAZ_PB’=4’is.

A= (a. 0). B = (-a. 0) wonz, PA2PB? = 4? %cﬁ;g@%rv €08 2.8 Lok P Bng),
Alolnbrslalo)

Options :
a circle

.8 9o
an ellipse
8 SgSgo
a hyperbola

3 08 wadHodoacho
a straight line

4 28 D6

Question Number : 42 Question Id : 1017174362 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The angle through which the coordinate axes are to be rotated to remove the xy term in the
equation x2 + 2xy —y2=01s

5 2 2 o, : -
D800 x° + 2xy — 3= = 0 S Xy HT°Y) ST00IVANTISE, IETHE
ROHIOHS 500 gcollegedunias



Options :
T

WA &

oo B O |

Question Number : 43 Question Id : 1017174363 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The point P (a, b) lies on the straight line 3x + 2y = 13 and the point O (b, a) lies on the
straight line 4x —y = 5. Then the equation of the line PO 1s

860D 3x + 2y =13 Doy P (a, b) ¢od H80sn 860w 4y —y =57 Lo
Q (b, a) 08, w9 H8E6D PO HaoEGE0

Options :

L x+y=T

W 5

, X+y=2

2 X+ y=21

Question Number : 44 Question Id : 1017174364 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If three non-zero real numbers a, b, ¢ are in harmonic progression. then the straight lines

- A -
2.2 Z-0 are concurrent at the point
a b ¢
w 3
Sored $PIgEC YD dowgen a, b, ¢ o ForEE FS* ¢od, __3___0 HEE0pen
a ¢

©0AEHAg Do
Options :

1 {1 —2)
2. 4)
3 (4.-2)
4. 2.4

L3
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Question Number : 45 Question Id : 1017174365 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The mcentre of the triangle with vertices A4 (L ﬁ ).B(0.0) and C(2.0) is

A(l \/_) B(0.0). C(2.0) ex 3TN Ko (@BeHed) woSGS050

Optlons :

Question Number : 46 Question Id : 1017174366 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The distance between the lines represented by x2 + 2xy + 12 — 8mx — 8my —9Im2 =0 1s

X2+ 2xy + 32— 8mx — 8my — 9m2 =0 S0 Bpe HDEgErdo.

Options :

L lﬁm
2.0
Sm

;2
4 52 m

Question Number : 47 Question Id : 1017174367 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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2
. o 's 4 o
If —+——+- 5 =0 represents a pair of straight lines such that the slope of one of the

a
lines 1s twice the other. then — =

h~
T 2
Bk e y x° 2xy ¥y g et
2.8 HOE0P T COF T TeuEd 0305 ©a0gL) - ]' +'b =0 & Hdowe
“ G, !
: ab
O30y SrdB08 Wk 5 =
S o T
Options :
9
1.8
8
2,9
22

‘mw

I
I~
oy

Question Number : 48 Question Id : 1017174368 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The three sides of a triangle are given by (x2 + 7xy + 2y2) (v— 1) =0. Then the centroid of
that triangle 1s

8 @ehas) Sord gharen (2 + Ty +232) (- 1) = 03 aSedsd. wHd o |Bhao

FB8), So|@erdo

Options :

59
(55
|

3

t..u|=~J

L}J

4
e
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Question Number : 49 Question Id : 1017174369 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Let o, B be the roots of x2+ Sx + 6 =0 and v, & be the roots of y2 + 6y + 7= 0. Then the
equation of the circle with («, ) and (B, 8) as the extremities of a diameter is

X2+ 5x + 6 =0 Qwg), Soreren o, B HBaS 32+ 6y + 7 =0 Bwg, Sooceren ¥, d
w8 orro. (a, ¥). (B, 0) o &8 5758 Fdeon e Syko HEB0

Options :

X2+32+5x+6y+10=0

, X2+92+5x+6y+11=0

-

5 X2+ P25 +oy+13=0

4 X2+32+5x+6y+12=0

Question Number : 50 Question Id : 1017174370 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If A(2. ¢) and B(d. 2) are two points such that the polar of one point with respect to the
circle x> + y% = 16 passes through the other. then ¢ +d=

Sy ¥2+y2=16 Syers: w8 DoY) Gy O oY Kow Fohbinm A(2. ¢
508030 B(d. 2) ©3 Bock DohHfen €08, wiyd ¢ +d=

Options :

1.4

6

3.8

410

L2

Question Number : 51 Question Id : 1017174371 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The number of common tangents to the circles x* + 32+ 2x + 8y —23=0and
xX2+97 —4x—10y+19=0,is

Symen ¥ +37+2x+8y—23=0,x"+37 —4x— 10y + 19 =0 08 fo &308 HYGPpe
QoDg

Options :

11 ;
gcollegedumas
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fad

44

Question Number : 52 Question Id : 1017174372 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the circles x* + 32 + 2hx + 2ky =0 and x? + % + 2h'x + 2Ky = 0 touch each other. then
h'k

-

hk'

7 2 2 2 2 \ ' i ]
SyEen x°+ 37+ 2hx + 2ky = 0 50080 x° +y° + 2h'x + 2Ky = 0 e w.8TIITES 3w

c-k) )
_— h'k
’5."‘:(;\'0)\.\’ 9) —
°* hik'
Options :
1.0
21
2
4 —1

Question Number : 53 Question Id : 1017174373 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the circles x? +12 + kx + 4y + 2 =0 and 2(x2 +12) —4x — 3y + k=0 cut orthogonally. then

7 ! ) | | | | —_ - —_—
SHeeo ¥ +y°+hkx +4y +2 =0 50800 2(x2 +y2) —4x — 3y + k=0 o0 eoworr
POROWHE0EH, wIYd k=

Options :
—-10

-

1. 2

10

L2

i) | Lh

i
frd

Question Number : 54 Question Id : 1017174374 Display Question Number : Yes Single Line Question Optinn - Nin Nintinn

Orientation : Vertical
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The equation of the circle passing through the points of intersection of the circles

A - X V :
x2+12—-2px=0and x2 +y2 — 2gy =0 and having its centre on ———=2.1s
P q

yEew x2 + 32— 2px = 0 Hdcsw x2 + 32 — 2qy = 0 © 9odS Doty Hom FEr,

X ¥

— —==2 D Sord) 0nS Jyfo Gng) BaEs0
P 4q
Options :

, 2+ 324 3pct gy =0
, X2+32+px—qy=0

2 2 e
;o tye3Ime-tqy=10

4, X2+32—4px +2qy =0

Question Number : 55 Question Id : 1017174375 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the normal at the point 7; (1.e.. at ((”12- 2aty)) on 12 = 4ax meets the parabola agam at the
point #,. then ¢y 1, =

_1~2 = 4(7.‘_&'3 It 5)06&3:}) (le ((?flz. 2at1)) 33%5 A8S @'@002368}), c")o'vf)@ojjoga S8/ ty 5)0(,5325)
3¢ §0h, Wiyl f 1=

Options :
7
AP
2, =2
3
3 —f]_“+ 2
s Ir T2

Question Number : 56 Question Id : 1017174376 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The equation of the common tangent to the parabolas 12 =32x and x2 =256y 1s

32 = 32x HH00%0 x2 =256y Hodeoiresd do ek HYEoer 0§60

0
3 X+ 2p 32 =1
5 2+ y—32=10
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Question Number : 57 Question Id : 1017174377 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

2 2

o ] —
The equation s b ot 1=0 represents an ellipse 1f

2 2
s o V- -
+—=—+1=0 %8800 .8 &3 eﬁyﬁoé\ BPL0T 0D

—7 r—"5
Options :
 F>2
Mgt e
3. 2<¥r<S

r<l2orr=35

L F<28Bor>S5

Question Number : 58 Question Id : 1017174378 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The equation of the locus of the foot of the perpendicular drawn from the centre of the

()
(S9]

. X ¥ N—_
ellipse —,+'b—,=l to any tangent of the ellipse is
a b°

2 2
¥ . ¥ f
&E580 —5 +5=1 Bng oo K08 HES5)TN8 Ko IR HYYOY S AAS vowdTe
OGBS HAEG0

Options :
) (x2+ 1 2)2 =qg2x2+ 3)2.1 2

5 (:._‘2 e .1}2}2 = q2x2 — E)E-:' 2

Question Number : 59 Question Id : 1017174379 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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The product of the perpendicular distances drawn from any point on the hyperbola

2 3
x y : :
o _TZI to its asymptotes 1s

B
(39
2N
9
£A
&
&
o

|
||I
—_
y:

& BT Do) Hod ) wiod HGBpess ADS

O 0SIT 028533.

Options :

lad | =
o | e

-
Ld

Lhl
AR w8 |
SN | Oy

Question Number : 60 Question Id : 1017174380 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The points (2. 3. 5). (1. 5.-1) and (4. 3. 2) form

(2.3.5). (1. 5. —1) $5805» (4. 3. 2) DoDHIHOE KB
Options :
a right angled but not an isosceles triangle

2.8 woafn@ibeo 570 SHleeriv@aheo 7
an 1sosceles but not a right angled triangle

, 28 dB8erdH@2H20 570 Lo @0 57
an equilateral triangle

2.8 dderddeheo

()

an 1sosceles right angled triangle

&8 DDodgerTY 008 @eheo

Question Number : 61 Question Id : 1017174381 Display Question Number : Yes Single Line Question Op

Orientation : Vertical
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If the direction cosines /, m, n of two lines are satisfving the relations / + m + n = 0.
[m= 0. then the angle between those two lines 1s

Boch Ope Bw&), &5 8RN Lmnen [+m+n=0.Im=023 dSowogodH CADIE: Q,
& Bod HOF0Pe 0Eg8ea0

Options :

1.0

Question Number : 62 Question Id : 1017174382 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If (2. —3. 6) 1s the foot of the perpendicular drawn from the origin to a plane. then the
equation of that plane is

Sore HothH) 5306 2.8 S8 Al wondSn (2.-3. 6) ®ond, & 00 BE), BadEGSI

Options :
g A4y 32290

2x—5y+8:+98=0
L 22X+ 4y +32+29=0
L 2x—3y+6:-49=0

12

Question Number : 63 Question Id : 1017174383 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

(1-cosax
SR (x20)
81 . ysinx : ;
If f1s defined by f(x)=+ and f 1s continuous atx =0. then a2 =
1
L g~
1—-cosax .
—_— . (x:'cO)
ysinx S0l i
f(x)=4 , T AEASZS (HB00%0 x=05¢ edind ~
5 . (-\’=O) gcollegedunias




Options :

|

[E]

Question Number : 64 Question Id : 1017174384 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

Iff(9)=9andf’(9)=4.then /nn J_ =

£(9)=9 508050 f'(9) =4 wond, lim a3 =

x—=9 +fx—3
Options :

1. 2

!._Jl
fad

9
4 4

Question Number : 65 Question Id : 1017174385 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The points at which the function f(x) =|x—0.5 |+ |x—1 | +tan x does not have a derivative
in the interval (0. 2) is

f)=|x-05|+|x—-1|+tanx HHocsrdE (0. 2) wokGoes® wiged 0N G0oKd

2o
Options :

| 95,:1,2

Question Number : 66 Question Id : 1017174386 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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2 2
+x° L dy
1 \/1 2 +\/l * | for0< | x | <I. then 2 -

\/1+.\'2—\/l—.\‘2 A dx

If y=Tan

1 \/l+.\’2+\/l—.\‘2 d‘l'

RO WV =
o

e e e dx

0<|x|<18 y=Tan

Options :
X
2
i Ni=X
1_2
7 ].— :'."4
2
].-l- X
4
;3 Vl-x
_Jl"
4
4 1-x

Question Number : 67 Question Id : 1017174387 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

2
o i
Ify=#2+7 and x = — 4. then the value of : = atr=11sequal to
ax-
: dzy
y=E2+B 0050 x =f—1*reond, =138 —5 Jend
dx~
Options :
2
13
—2
1y 3
4
3 3
4
3

s
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Question Number : 68 Question Id : 1017174388 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

2 2 2 g 2
If the normal to the curve .\‘A - 1A =(,A makes an angle ¢ with the X - axis. then the
equation of that normal 15

/ + 1/ / o3 SE"A8 ADS vHoondy X - wEos ¢ §no BB 0T, ¥ wHeoWOP

P, DaEG0
Options :

| y—acos2d=xtan ¢—a?sin’ ¢
, ¥ COS ¢—xsind=acos2¢

R % e = 2
3 YCOSd—xsim¢=acos™¢

, Ytasin2$=xcosd—asin2é

Question Number : 69 Question Id : 1017174389 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the rate of change of x is more than the rate of change of y on the curve x3 =12 y. (x> 0)
then x lies in the interval

B=12y (x> 0) =3 507 X B, SrEy) BLw, ¥ B, SrEBen 0B I8 Sm &0,

X €08 ®os80
Options :

, ((2.0) u (0. 2)
(2. 2)

3. [-3. 3]
4 (0.2)

L2

r_,,J

Question Number : 70 Question Id : 1017174390 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T . . . . .
If0<x< = then the maximum area (in sq. units) of the triangle whose vertices are (0. 0).

(x, cosx) and (sin3 x. 0) 1s

0<x< o3¢0, (0. 0). (x. cos x) 50050 (sin3x, 0) & 2gS0enm SRS (@eheadn

l~q| =

@g), 10N Jrrogo (S68) dhrdiye®)

Options :
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Question Number : 71 Question Id : 1017174391 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Suppose f(x) is twice differentiable in the mterval [1. 3] and /(1) =f(3). If |,
then for all x in [1. 3]. which one of the following is true?

"

)<L2,

[1. 3] woss0es* f(x) Bochard) wSgedanho 0050 f(1)=71(3) essomo. |f"(x)<2

w008, whyd [1. 3] &°) i) x 08, & (§ob TIS® A& HEEN?

Options :

@)1
A< fi(x)<4
3 R
q —IE S

L2

Question Number : 72 Question Id : 1017174392 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
dx

fOo<a<l, then_[ o —
24C0SxX+a’

dx
0<a<leons, .:oﬂcﬁa .[ —=
1-2acosx+a”
Options :
1+a X
5 Tan ™| ——tan= |+c
1 l—a~ _l—a 2_
2 all=a x|
> Tan . tan— |+c .
2 14+a° 1+a 2] Icﬂq{llegéur:ugg

L



2
3 1—a —da =
2 1] 1- X
Tan ™ >tan— |+c
l+a 1+a° 2

Question Number : 73 Question Id : 1017174393 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

—COS5 X

If Jsin5 ydv=——"" L qcos> x+bcosx+ c.thena+b=

: —COS X 3 =
J.Sllls Xdx=————+acos” x+Dbcosx+c wond, whyd a +b=
5
Options :
1
.3
2.0
1
3 3
2
4 3

Question Number : 74 Question Id : 1017174394 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

£4 5
“ 6x +5 ‘(].\‘:
* J64x—042
Options :
13 [ 4x—1)
—346 2 Sin— +
1. w\/ +x—2x2 7\/_ ( - J c
13 4x—1
—3\/64—\’—7\ +—=Sinh™ (— +cC
; V2
3. E N/ TN 21\/’: Su]h‘lt o 1}+c

3\/6+x—2x2— 13 C‘os“1[4"'7‘1]+c
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Question Number : 75 Question Id : 1017174395 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

%

j |.\‘ Sin :rx| dy =

-1
Options :
2 1
g T i
3 1
1 Tzl
4 1
S
3 &
1 2
e
4. T

Question Number : 76 Question Id : 1017174396 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

By the definition of the definite integral. the value of

[ ) ;) .
I 2° g’ 1
Cigstram———tanthrme—— | =

2n

lim
MO
n—x| 1° +n

DS ddrsodo HEgESe Hod) lim | ——

n—xl 1P 4+n° 27+n

Options :

| log2

2n

Question Number : 77 Question Id : 1017174397 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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The area of the region that is common to the circle x2 +12 =16 a2 and the parabola y2 = 6ax
1s

X2+ 32 =16 a2 93 5)z8 H0os» 32 = bax @I HTI0BPIE GIsT 408 (@ogo
BDE), ITOZ0
Options :

4a° (41‘ \/—)

1.3

—2[3;r+«f§)

13

da” 2 (22+42)

; 3
2
2f (Efr—.ﬁ)
S L

Question Number : 78 Question Id : 1017174398 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

o T - 7

Jo vsin’ xcos® ydy=

Options :
87

1. 1002
187

» 1003
167

3.3003
61

4 3003

Question Number : 79 Question Id : 1017174399 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

2 (h . 2
The general solution of the differential equation (x— )" — = =a” i
(
2 dl .7 =
(=3 — wS8eS BHDEC0 DY), TTED TEIH

0’\'
M collegedunia



x—=y+1 )
'\=alogl +c
l, \ Y+.1.'_].
a X—yv—a
y=—Ilog +c
s 2 L X—Vv+a
a ‘x+y—a)
y=—log| —— |+¢
; 2 X—v—a,
3. \ . /
a X—yta)
y=—log| ———— [+¢
xX+v+a,

Question Number : 80 Question Id : 1017174400 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

2
. N . dy y P .
The solution of the differential equation 2(7—‘—:'—7 . given that y=2 whenx=1.1s
X X ¥
2
; T i3 s o
X =1 @00dH%0 ¥=2 m @dhdT, 2———="7F @ 80 H08G00 TBNE. TS
5 | d 2 O-
o = X X x°
Options :
x
2y=
1 1+ \l;
5.0
1 =
2" Bl
X
.dhh_
2(1++/x)
2
] paru,
Display Number Panel: Yes
Group All Questions: No

Question Number : 81 Question Id : 1017174401 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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The radius T’ of a wire 1s given by 1 = e where I 1s electric current. B 1s magnetic
nBv

field and *v’ 1s velocity. Then the parameter A in the formula represents

o8 85 Bw¥), Tg>rdo r= 6:BIA T ASREIH. Ro&S” [ABgs Hait), Bedhan od
; \’ o :

"

BEQ) 08050 V' Iy drdFan. & drGdns” Adrdod o3

Options :
Resistance

1 3}'5;'{,50
Resistivity
RTGES

Capacitance

-]

Brada)
Conductivity

G ?Eﬁ"*ééﬁgo

Question Number : 82 Question Id : 1017174402 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A stone 1s dropped from the top of a tall building and after 2 seconds another stone is
thrown vertically downwards with a velocity 5 ms— from the same point. Then the distance
from the top of the building at which second stone overtakes the firstis  (g=10ms™2)

28 JBS FIS0 D ok w8 Trod (oS rEAE . 2 DEDY SHTE HFE Trowd
&3 Do od SmsT IKod VenHr 1Bods VBT, wond FIS0 B Hod Jod
&rdo $¢ BowS Tre I0GE Trond TEBsD? (g= 10 ms)

Options :
( 0.222 m
2, 2.22m

1. 2221
4 222 m

Question Number : 83 Question Id : 1017174403 Display Question Number : Yes Single Line Question Optinn - Nia Mntinn

Orientation : Vertical
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A body 1s projected with a velocity (i + 2‘j)ms"I . where } is along the horizontal and ] 15

vertically upward. Then the equation of its trajectory is (g =10 ms™)

v : : 3 = VR < f=] A R 74
28 DD (1+2])1115 308 PEH0 Voh&Ss. a8 & | §8z Jdrodsdn IJownd, J

8§82 ©oadn Jowd § ol © SHY HFBSE HWEdwo (g= 10 ms2)

Question Number : 84 Question Id : 1017174404 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A projectile is thrown with a velocity of 104/2 ms™! at an angle of 45° with the horizontal.

The time interval between the moments when the speeds are /125 ms™is (g=10ms™2)

882 HETOSESNS’ 45° Fro Dz of (8080 1042 ms 3508 HEho Fohwdss.
Séen /125 msT! eddhy psne S Ko so 3358 (g=10ms?2)

Options :
1. 05s

315 5
328
4 1.OS

Question Number : 85 Question Id : 1017174405 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two weights 2 N and 3 N are suspended from the ends of an inextensible string passing
over a fixed frictionless pulley. If the pulley is pulled up with an acceleration equal to the
acceleration due to gravity, then the tension in the string is

DACDD, Dodee B By T P a8 FHEBNLH JeoBl &F DIdw 2N Sobain
3N ahHoin Bord SR, & B0 HKE] Sc8ad8 HErSIod Scdnos’ 8 i,
& &K 8358

Options : .
P gcollegedumas
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Question Number : 86 Question Id : 1017174406 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two cars of masses my andm, joined back to back by a massless compressed spring are at
rest on a horizontal rough road. When the compression of the spring 1s suddenly removed.
the cars move away from each other and come to rest due to friction. If the frictional force
1s same on them. their stopping times are in the ratio

()

Iy So8ok0 My (BgomHen Ho ok 5 (BH5o738ir8, Doaddtn BodS Ryohs® &E
3308 gmmren Eeodad of §82 o8l HHBT & JT7H0S” am)oX. G’ogoiis éo?sé&"@l
WETET FoR, 5 LETITES drdor Faw, Hdp S0l JoErI§ Sajow.

TED 2,8 S0 200 G008, ITIrIE ST

NG'R) ¥ POSrHoNS srodwe IS

Options :

11
1y
m,

]

1,

, 1y

m,
1y

Question Number : 87 Question Id : 1017174407 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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One end of a spring of force constant 150 dyne cm™ is connected to a block of mass
0.2 kg kept on a rough horizontal surface of coefficient of friction 0.3. The other end of
the spring 1s connected to a rigid support as shown in the figure and the spring is initially
undeformed. The maximum velocity v that can be given to the block so that it travels only in
one direction 18 ms~L. (Acceleration due to gravity = 10 ms—2)

0.3 2odso oeago o 2.8 HHB §82 d8rodd dwo D Ho 0.2kg 350738 o o8 63050
150 dyne e 2o Horogo Ho w8 Byof By, w8 DBEK Bk, HLod® Sros dorm,
Ryofi Bg), Tods BEH wf SRS sErods Sipd. @doFods” Ryofi IErHeLd
S’ K5, HvY &8 BFS* Hodrmo VoLIBLB, S0 2XKEH K0R JKo (V) ms .
(885 g8 =10 ms)

150 dyne cm™

Options :
1.

L

L
(o T oo, ML TR B

Question Number : 88 Question Id : 1017174408 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two spheres ‘A’ and ‘B’ of equal mass lie at rest at the opposite ends of a diameter of a
smooth horizontal circular groove of radius ‘r°. “A’moves and collides with ‘B’ after a time
‘t". If “e’ 1s the coefficient of restitution. next collision between the spheres takes place
after a time of

T’ rgrddn fo o) §8z Sirodd H@ms s ma BwE), Tgiddn ok VST 3¢ A
$HBcsw ‘B’ Fedooen Jordod” eanon. ‘A’ 308z U oo $hard ‘BT & eddrdo
BoBIB. DEgSTS Hegdn ‘e’ vod, Mo Jdy b LPHrSS0 it
DEET OB

Options :
2t

1. € gcollegedunias
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Question Number : 89 Question Id : 1017174409 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A uniform square plate has a side of length 2R. A circular piece of maximum possible area
1s cut and removed from one of the quadrants of the plate as shown in the figure. Shift in the
centre of mass of the plate is.

2R zhadn P& Ho 808 SHIFEE Hof Sod. HLod’ Frbdtom Ho o),

-

Qb PN Sod HEL IToginio HETTE Lof) S 800 oy, du¥ (Eigore

FoSSnd' D ssos (Shift)

— cut and removed

N
K |

£8000 FuRowndds

Options :

R
 2(16-n)
R
, (16—m)
R
, m(16—m)
Rn
, (16—m)

Question Number : 90 Question Id : 1017174410 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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: , . : : : R
A small hole is made in a circular disc of mass ‘M’ and radius ‘R’ at a distance of ? from

the centre. The disc 1s supported on a horizontal peg through this hole. The moment of

mertia of the disc about the horizontal peg is

R
M (&5g073, ‘R argardo de SyEmsd D, Soo ook i ErdoS” DX SoFT)

DD, §82 Jhrodd o & Sogo Mom FPSEn DEHS BerdbTs. & s Somr

DY) 2dSg BoEBw
Options :

9MR?

L 16

SMR?

.

SMR?

3 16

MR?

s 9

Question Number : 91 Question Id : 1017174411 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A): When a spring is cut into two equal parts. spring constant of each piece is
twice that of the original spring.
Reason (R): Spring constant is inversely proportional to length of the spring.

so (A): o8 @Qu(ﬁ“ﬁ) B0k BIo°S ermen™ E880NIYL, .8, erifo E"QOE 2Tr0¥0,
& é’o&oﬁs @ogoﬁ 207058 B0 crodo.
80 (R) : Gobom Roro¥o, L‘o’oa\Jofio PEHE DS S FE0eS” oo,

Options :
(A). (R) are true : (R) is the correct explanation of (A)

i (A). (R) &0 Bod 28550 1 (R), (A) Bwg) S35 DSden

(A). (R) are true : (R) 1s not the correct explanation of (A)
, (A). (R) o0 Bodo 38550 : (R), (A) Bwg), $08 Db 5760

2
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(A) 15 true. (R) 1s false
5 (A) dg00, (R) eddgs0
(A) 1s false. (R) 1s true

. (A) 38550, (R) 8550

Question Number : 92 Question Id : 1017174412 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Three solid spheres each of mass 1 kg and radius 2 m are arranged at the three corners of an
equilateral triangle of side 10 m. such that centres of the spheres coincide with the corners
of the triangle. When they are released from that position. the speed of any one sphere at
the time of collision would be (G 1s universal gravitational constant).

B 5,8 B350 1 kg argargsdor 2m o Sardo 08 Addnods 10 m ghade fo w8
1oploTY

V

Sfoerdv@aonidn BNE), Hrdd gdve I Fddoe Bo@doen G 3o

;'Dga,-gjowa)éw @50“)30"’:363 ;§ 8 Hod FEIned H6OL, DI 238 SJoohas®
VS Fgo B, & (G- 29 HSd] Lorogo)

L

L
(\J
o

Options : i
3

Ao

2 ¥ 3

; 30G

4, SG

Question Number : 93 Question Id : 1017174413 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A material has a Poisson’s ratio 0.5. If a uniform rod of this material suffers a longitudinal
strain of 2x1073, then the percentage change in its volume is

28 Dgo Fowas WG 0.5. & HTrgos® Bobhwds J868 $¢e° Thob a8 2x107
BONDS T PJ JOIr0S” Srddy TS0

Options :

1. 0.6
0.4

3.0.2 .
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Question Number : 94 Question Id : 1017174414 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In a cylinder provided with a piston. air 1s under pressure P; at a constant temperature ‘t’.
A soap bubble with radius ‘r’and surface tension T is lying mside the cylinder. To reduce
the radius of the soap bubble to half. the required air pressure inside the cylinder 1s

Sohedo Ko 28 dO08HS® md, Py hEssw, f Q8 GRS I8 eHB. T a"gé?’g.‘-ﬁaa
050 T’ Sodldgd Ko DJaendl DO0dSHS” B, Saodl TrgRPEsn JiSD
SO DOOBHS® GoWIRS Ton DHESSD

Options :

SB, +£
1 I
8P +£
f I
2
8B +£
_ I

5
8P, + 1l
4, I

3

Question Number : 95 Question Id : 1017174415 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

One end of a uniform metal rod of length 100 cm 1s placed in ice and the other end is
placed in boiling water. A point of the rod which 1s at a distance of 60 cm from the ice end
1s maintained at a constant temperature of 325 °C. If 2 g of water 1s converted into steam
per second. the mass of ice melted per second in steady state 1s

(Latent heat of steam = 6.75 times latent heat of fusion of ice)

100 c;m &9 Ho o8 868 é”é*f.g)é% B0E), a8 VIEH Hoothe S HOBE DIES
SDKEHd) DBS'E Somd. oS GoTwds D50 Sod 60 cm Erdost Ko uf
Do 5§ ¥4 SAISS 325 °C Sif5 Yo GoTwh. & Josh PBS® &Ny, B8
DESB 2 g D o 708, (58 TS K S0 (BT

(eiy&5S HoFRo, B0 (BIFSS KoFTIE 6.75 Be)

Options :
13 g
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Question Number : 96 Question Id : 1017174416 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If a 4 kg of ice is inside a closed cubical thermocol box of side length 20 cm and wall
thickness 4 cm then the mass of the ice remaining after 10 hours is nearly

(The out side temperature = 50 °C
co-efficient of thermal conductivity of thermocol = 0.01 Js~Im1°C-!
Latent heat of fusion of ice = 335%103 T kg™1)

08, ghzo &I 20 cm oo AE Sodo 4 cm Ko a8 o &8) DIE8 §8)FS
© Ho0dog), 8. 10 fobeo T8 A &) Jod (55078 Sodrdone

$GYE'S Boog), aag Fde fowgo = 0.01 JsimeC!

S0 BDFSS KoFgsw = 335%x103 T kg
Options :

| 3.678kg
, 6378 ke
, 2.87kg
, 1.87kg

Question Number : 97 Question Id : 1017174417 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

5.6 litre of helium gas at STP 1s adiabatically compressed to 0.7 litre. If the mitial temperature
of the gas is T K. work done in the process 1s (R 1s universal gas constant in ST units)

STP $¢ Ko 5.6 ¢ rdc%o adsnyd p6%agor 0.7 dLE8 BodEssn Sowsss.
&0 XS TK vond, BEHS 2848 H (R 2588 arcsndoroto SI Biraros?)
Options :

2B‘LT

. 8

9
—| =RT
7 \8
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Question Number : 98 Question Id : 1017174418 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Match the following

List-1
1)  Isothermal process
11)) Isobaric process
ii1) Isochoric process
iv) Adiabatic process
808 I 2BHBBB
958 -1
i) 3% eFFe BE®
i) $% HES HES
i) S HBBOSrD B
V) EHE B

The correct answer 18

HOGHS BIPETHBE0

Options :

1

[ ]

1-c. ii-d. ii1-a. 1v-b
1-a. 11-d. 111-b. 1v-¢
~1-c. 11-b. 1ii-d. iv-a

d)

d)

P(V,-V})

038 - 11
@
0

*# .
ﬁlpzvz—ﬂ 1]

-
”Rm[r—a]

P(V,—V))

:
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4 i-b. ii-c. iii-a. iv-d

Question Number : 99 Question Id : 1017174419 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The total random kinetic energy of 1 g of helium at 100 K will be (R =28.3 Tmol* K™)

100K 58 1 g5 0aird8 Soodo osrdymg #ez ¥§ (R =8.3 Jmolt K1)
Options :

 622.50 ]

311.25.)

3.155.62 ]

4 415.00 7

12

Question Number : 100 Question Id : 1017174420 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An open pipe and a closed pipe have fundamental frequencies n; and n, respectively. They
are combined to form a closed pipe. Fundamental frequency of the combined pipe is

2.8 BUAR 50880 BoroR e SBJM 1) 0080 Ny (FEE TSI o EONHT06D.

TEI BOD 8 Jorod Aerd) BPL. 8 S0BrE Qo D), TEE TS50

Options :

T

2. M~
1,11,

1n; — 21,
111115

, 0y +2n,

Question Number : 101 Question Id : 1017174421 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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A source emitting sound of frequency 288 Hz is tied to a string of 100 cm length and
rotated with an angular velocity of 20 rad s~! in the horizontal plane. The range of frequencies
heard by an observer standing at a distance of 5 m from the source is (in Hz)

(Speed of sound in air = 340 ms™!)

288 Hz &rd:9dgo o $4A0 &orooB ass°Q) 100 cm a6 Ko 28 o708 8§
20rad s71 §%505 IK0S° §8x JSros8 SooSt Weo Bonomrd. 285708 Sm Srdos®
Joadd wl 0305808 IIDOD FSiYTrge S (Hz &)

(mOS® &R $8& = 340 ms™)

4 278 to 298

Question Number : 102 Question Id : 1017174422 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A glass prism of refracting angle 60° is immersed in a liquid in which angle of minimum
deviation is 30°. The critical angle of glass with respect to the liquid medium is

SHEESS Feodow 60° o o mar HLSI) ol BHos® BwodSHd EAH Ied Sl
30° (&5 oS80 Syrg mew odY §'eo

Options :

1 30°
2 45°
3. 60°
4 90°

Question Number : 103 Question Id : 1017174423 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Three polaroid sheets are kept parallel to each other such that first and last are crossed.
Unpolarised light of intensity 32 Wm= falls normally on the first sheet and passes
through all the polaroid sheets. If the intensity of the emerging light from the third sheet is
3 Wi then the angle between the axes of the first two polaroid sheets is

$oorddy FoTrond SoBe JIroSTom &I00. JVEE Jo8o8N Sords Dusws Sgdgom
(crossed) wamyoos. 32 W §i58 Ho ©@)dd 5708 Sodel Ho¥ 2 vomon HESHow,
DED Hordd FoTrond Hofo Hom Faudd. Hordd Sof Dol PFEDS 5od B
3 W2 @ond, 3088 Bodd Foorons Hufe ofdne @y Sobdn

Options :
1. 60°
 45°

; 30°
2 90°

Question Number : 104 Question Id : 1017174424 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Electric field in a region is given by E = aj + bj . where a and b are constants. The net flux
passing through a square area of side / parallel to y-z plane is

28 $BFoS® dgS §o E=ai+bj ™ 2%0b58. 28§,E 2508050 b oo Yorosen.
Y-Z 8708 ddroddorr wod | ghzo fo S8R aggo Mo @O0l I8 ddgs

FA PO RTe)
Options :
1 332

2 al
3. bi?
4. bl

Question Number : 105 Question Id : 1017174425 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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The linear charge densities of two infinitely long thin and parallel wires are 4 Cm™,
8 Cm! and separation between them is 4 cm. Then the electric field intensity at mid point
on the line joining them is

©S508F08 DEY Ko Tok JHN S08osw $Iross Se TPakH I Fogses 4 Cm L,
8 Cor! $o8aw & &ko Hods Srdo 4 cm w8 TEI SwHHF) SEFBP Doy
DoEH S& Dogs B S
Options :
. 18 x 101 NCH
36 x 101 NC
9% I NCH
4. 72 x 1011 NC

L2

5]

Question Number : 106 Question Id : 1017174426 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two conducting spheres of radii 9 cm and 1 cm are separated by a distance of 20 cm in free
space. If the spheres are charged to same potential of 10 V each. the force of repulsion
between them is

9 cm $8c50 1 cm Tgrgdnes fo ok ¥ Fedner Deanododos® 20 cm
ErgEng” IHTohwaSD. wb)E FEos 10 V 2BRohEs o3dgodsn T o8
;338;55 e S)s’t’“)lso 2302000

Options :

4 10°N

15

-9
10 N
, 4
)
3 3

4 4x107°N

N

Question Number : 107 Question Id : 1017174427 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

:
gcollegedumas
India’s largest Student Review Platform



In the diagram. the area of each plate is 2 m” and d = 210~ m. An electric charge of
8.85%1078 C is given to the plate ‘Q’. Then the potential of Q 1s

SLH0 S0 B8 v ITego 2 m? 8080 d=2x102m. R0 Q% 8.85<1078 C
DSosS wBfdn aYs, ‘Q B

g&
Cn

Options :

1. 33V
n 1OV

Question Number : 108 Question Id : 1017174428 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In the circuit given. the charge on the capacitor is

RN S0choS’, IFDLE E eIFdn

C R,
Ry
| I AV, VA I
YV
! r
B
Options :
1. CE
CER,

1 Ry+1 gcollegedunias



CER,
5. B AT
CER,
4 Ro+r1

Question Number : 109 Question Id : 1017174429 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The current through 2 Q resistor of the given circuit is mA.
250088 Soched® 2Q TGS TrT PSTrod Jdgs Pro mA.
i 10 30 4
10V ——_ . W
VAN
5Q
6€2 20 6Q 120
Options :
1. 960
2.320
3. 980
4 1960

Question Number : 110 Question Id : 1017174430 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The magnetic induction at the centre of a current carrying circular coil of radius 8 cm 1s

6+/6 times the magnetic induction at a point on its axis. Then the distance of the point

from the centre of the coil in cmis (/5 =2.236)

— ——

8cm Trgardo do DEogd Wardring) 5358 8K Soldo $¢ 8ok, o8 (Wi, o

oo B of Dotd 5§ w8 [hEms 646 Bty wod By Fogo H08
DoEIHE Ko drdo cm os® (4/5=2.236)

Options :

. 17.89
. 1.789 gcollegedunias



3 178.9
4 0.1789

Question Number : 111 Question Id : 1017174431 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A beam of protons moving with a velocity 1.6x10° ms~! enter a uniform magnetic field of

E T atan angle 60° to the direction of the field. The pitch of the helical path of the protons

is (mass of proton = 1.6x10727 kg)

1.6x10° ms™ 3508 BOS) (@S 8o Yoedw T e o ©aam), 08 JGE0S VS

10
3863S° 60° o Bd: (HI0NIE. @Férd S0yoIEsn By, @erodddw (pitch)

(@S BSgome = 1.6x10727 kg)
Options :

 1.6x1072 m

, 2.6%107 m

5 0.16%1072 m
, 0.016<102 m

Question Number : 112 Question Id : 1017174432 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The energy dissipated per unit volume per cycle in the hysteresis of an iron sample of mass
10 kg is 200 Jm~ cycle™!. The density of iron is 7500 kg m—. The loss of energy per hour
at 50 cycle s71 is

10 kg (855073 fo 2.8 28030 H0u5)) Bog), 3og8s” I5°08 HoSH0587m8, IT0EEEVS
Sodggosro Bod ¥§ 200 T3 cyclel s ogd 7500 kg mP wond 50 cycle s
38 w8 Hobsodnd' ¥

Options :

1. 24000 7J
2 48000 7T

5 96000 J
, 12000 7

«

0.

LO))
Bf S

Question Number : 113 Question Id : 1017174433 Display Question Number : Yes Single Line Question O

Orientation : Vertical
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The magnetic flux linked with a closed coil 1s increased to a maximum value in 2 s and its

relation with time is ¢ = at® + bt + ¢ then the relation between a. b and ¢ is

D05y e&sﬁzﬁogé‘? DOFTIE woh 08 s 2 §S° K05 De0HBd D038 550050

TO0S TP LDoodDw, q):atz +bt+c @o0S a.bSodosn ¢ © éﬁocﬁg D0208500

Options :

1 a=-b

Question Number : 114 Question Id : 1017174434 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An LCR series circuit is connected to an external emf. e =200 sin100 mt v. The values of
capacitance and resistance in the circuit are 1 uF and 100 Q respectively. The amplitude of
current in the circuit 1s maximum when the inductance i1s (in henry)

&8 LCR @5 Sewodo €=200sin100 ©tt v ey dogamiol wewos Sodaod. Soohod’
IFHBY) $r0080 DGTes S&sm 1 UF 50805 100 Q Sochos® & BTE §obd
808 KBG0 TEFE oS (REEEio (RS’

Options :

100

.ﬂ}

i

1. T
100
;3 100
4 107

L-2

Question Number : 115 Question Id : 1017174435 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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A parallel plate capacitor 1s completely immersed in a liquid of resistivity 0.25 Qm and
relative permittivity 80. If the plates of the capacitor are connected to an alternating voltage
source of Vi sin(mt) volt at a frequency of 0.4 GHz. then the ratio of the amplitudes of the
displacement current and conduction current 1s

[ 1 =9x109N1112C—2]
dne,

0.25 Qm JITEES o850 80 F g DHBIB o wd B0 wE Jdrods Jofo
BPVLERN FoT Swomd. 3FJL6 dodody 0.4 GHz S

57088 FPE ases Dogrdo TR, PIod S Padro HOXL THE DS

co

”

Ddgo Heo Vi sm(mt) Sep

PaSro S0Srere A

L 9x10°Nm?C2
dneg

Options :

b

L
-2 -2
o ka1l

B
-

Question Number : 116 Question Id : 1017174436 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the momentum of an electron changes by ‘P’ then the de-Broglie wavelength associated
with it changes by 5%. Then the mitial momentum of the electron is

w8 JOEIR BooY), BHgRHod” by P’ wand T8 eowoddR &) &-egrh SB0KBE 50
5% Sr8o00d. ©onS QO Too¥), &0 (RIGLE
Options :
20
L P
20 P
P
;20
4.30P

]

Question Number : 117 Question Id : 1017174437 Display Question Number : Yes Single Line Question O 1 duni
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A stationary hydrogen atom emits a photon corresponding to first line of Lyman series.
Recoil velocity of the atom 1s nearly

ICH0S HF) TIF RS 6800, BS @B I8 BpS Fowo§odd PSS
STES0 Bood. HBEPWY BEHES Jrdn BoBrGT

Options :
1 3.2 ms

0.63 ms™!
; 8.2 ms™!

4 0.1 ms!

L3

Question Number : 118 Question Id : 1017174438 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The decay of a radioactive material is shown in the graph. From the graph. the decay constant
of the material 1s nearly

QDGS9 (Barddro) &8 B&Q’o‘c’@éé STrgo Bood), LT R) S d. B Sood

@ Soreof Db Jooo LI

w | |
o %0 100 | | | |
35 = L
- 80
22 o .
HE @ o I
g = =1
6 2 Pl |
R - AN e
5 5 | |
5§ § 20 4+— — __:-_J[__N
| M
0 10 20 30 40 50 & 70 80
Time (in hour)
oo (Hobod)
Options :
121072 ¢71
1 0.693x1074 g1
3 2x1076 571

L 10=5 <1 :
4 05107 s gcollegedumas



Question Number : 119 Question Id : 1017174439 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In the following logic circuit. the values of Y.Y, and Y3 are respectively

Léo& e Seochos’ 'Yl.&'rz. Y'_v, © dev e SB{m,

Y>

Options :

1,1

g0

1,1,
, 0.1.1

L-2n

Question Number : 120 Question Id : 1017174440 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TV transmission antenna at a particular station has a height of 100 m. By how much the
height of the antenna is to be increased to double its coverage range?

28 8% Bogo 3¢ do TV 38 soBa) I8 100m & s08) I8y Jods DOVE, TR

e} a*’gi"_g Bééo@ 0807

Options :

, 414 m

, 121.4m

3 70.7m

4 100 m
Display Number Panel: Yes
Group All Questions: No
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If the wave number of radiation emitted for the electron transition from an excited state to

>

.. X , g
ground state of hydrogen is 36 mi !, the wave number of radiation absorbed for the electron

-

transition from the above excited state to next immediate excited state in ! is:

TIEFR HSTHT IOFTS &8z 08 $H00 Fri)d88 H05GSo TohSHE GITEHS
5% "
—_— m-
36

Q@Lsm D0S5850 Boad FRoWEFN D88 £8ok domg m! eres®

D80G Sdorf Hopg o003, e & 8 Dok SHT8 &8 &

L@

2 06§
@

Options :

L2
[—
=
|

Question Number : 122 Question Id : 1017174442 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the de Broglie wavelength of electron is 728.14 nm. its kinetic energy in J is:
(mass of electron=9.1%102 kg: h=6.626x107*1T5s)

2.8 9O \L S GEtO ¢ S6oripggo 728.14 nm wond & (8x¥8 J o

£J

Qo 35073 =9.1x «10731 kg: h=6.626x1073417 s)

p\
Options :

L AS55x167%
9.1x10723
5 45551622
4 9.1x10723

[E=]

Question Number : 123 Question Id : 1017174443 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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Identify the set of elements in which they are arranged in the increasing order of electron
gain enthalpies.

DOFS [Py 0T DR (E00S° @Hd)adks Srosto B KHYowEEN

Options :

. F.0,s, ¢l

2 Gk 0. F 8
;0.8 E cl
.S.ECLO

Question Number : 124 Question Id : 1017174444 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A) : Higher lattice enthalpy leads to greater stability of ionic compounds.

Reason (R):  Lattice enthalpy 1s a direct measure of the electrostatic forces of repulsion
among the constituent ions in an ionic solid.

AHFo (A): o8 Jorrdy Jod JEY ST 608 & BOSrIE HTFo od JEY S YOS
s2d20 (R): 3R D0FrY) BOSPIE HSHTYoS A wosrde Sgg eod Q0 DEogS

DEG Bere SHEoLET o d

The correct answer 1s
DBGS DSFEHS0

Options :
Both (A) and (R) are correct and (R) is the correct explanation of (A)

N (A) 08053 (R) &0 Boddor S8 $08050 (A) 80 (R) 838 D56
Both (A) and (R) are correct and (R) 1s not the correct explanation of (A)
. (A) 508050 (R) 0 Bodr $850 0803w (A)  (R) 988 J36e0 5760
(A) 1s correct. but (R) 1s not correct
: (A) 5858 570 (R) 5886 570
(A) 1s not correct. but (R) 1s correct

4 (A) 5358 s°¢% 5°Q (R) 38858

Question Number : 125 Question Id : 1017174445 Display Question Number : Yes Single Line Question O

Orientation : Vertical
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The number of bond pairs. lone pairs present on the central atom of SF4 molecule and its
shape respectively are

SF4 92205 S08® So58 D630 e 2048 2080, 2,000 2000 Dopgen $H8050
PR BES HADM

Options :

4. 2. tetrahedral
| 4 2. S8 Haso
4. 2. square planar
) 4, 2. S0P dSHEe
4. 1, tetrahedral
;A1 G ST VR )Joele
4. 1. see-saw
) 4,1, SxiHd e

Question Number : 126 Question Id : 1017174446 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the RMS velocity of an ideal gas is ums™ at 127 °C, at what temperature its RMS
velocity 1s doubled?

HCY
oo
=)
S
2

Question Number : 127 Question Id : 1017174447 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following does not undergo disproportionation reaction?

Bod Ti3e° QB wSHFE SEgST J;eTHE?

Options :

. CIO™ .
gcollegedumas



, CIO;
, ClO;
, CI0j

Question Number : 128 Question Id : 1017174448 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Molar enthalpy change for vapourisation of 1.0 mol of water at 1.0 bar and 100°C is
41.0 kI mol™!. If water vapour is assumed to be an ideal gas. the internal energy change for
1.0 gof water in kJ 1s

.03 60 1.0206, 100°C 3¢5 erty8de0es® arers Joardyes® 56y 41.0 kT mol™. H¢3
@0 BEGTOINYT grHoNB8L008 1.0 g I8 wos5E8es* Sy kI os®

Options :

;. 1.053
2 4.212

3 3.159
4 2.106

Question Number : 129 Question Id : 1017174449 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

At T(K). K, for the reaction 'Soz(g) +NO,(gy = SO53(4y + NOyy is 16. If initially one
mole each of all the four gases are taken in one litre vessel. the equilibrium concentrations

of .503(g) and 'SOZ(g) in mol L~ respectively are:

T(K) ¢, 'SOZ(@)+N03(P)\=‘SO3(§,)+NO(J) Fogso Ko dend 16. oo
TOINH O (38 7D (@ mES w8 IS wonHod T 2.8 dLE JES®

&508K)t0ond SO3(..y, SOy B5edd mEsen mol L os® Sbm,

AL
el
e
(o |
wa)

Question Number : 130 Question Id : 1017174450 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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The solubility °S’ of Zr;(PO, ), in terms of its solubility product. K18

SBoher oo Kgp ddom .Zl‘3(PO4)4 58058 ‘S’

Options :
1

(KSP 2

144

i

( Ky s
1728

Lid

(Ksp “\l?
6912 |

4.\ :

Question Number : 131 Question Id : 1017174451 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two litres of 15 volume solution of H>O, on complete decomposition liberated x litres
of O, at STP. What 1s the value of x (in litres)?

B0k D&Y 15 0830570 HyO, (3052008 S IS0 maodm X&ed O, STP S

FNSA0H. X e (O.065°) Joes?
Options :

-
2. 3.0
3.1.5
0

Lk

4.

Question Number : 132 Question Id : 1017174452 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the correct statement from the following.

808 DHIBeS® VS @A MHYolod

Options :

:
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Gypsum contains a lower percentage of calcium than in Plaster of Paris
59000 g0, Y6 B FOVS® §oB BYS® &5y S

Gypsum is obtained by heating Plaster of Paris

FHE 6P FODH IADSL S0 BT ©DOSK

LW

[

Plaster of Paris 1s obtamned by hydration of gypsum
B0 @RS Vodnd Jod rPs =D FOD 0fowl
Plaster of Paris is obtained by partial oxidation of gypsum

20 FEE w§i¥600 Tohe S8 PFHE w6 FOD 0PN

Question Number : 133 Question Id : 1017174453 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The material used in nuclear industry as protective shields and control rods is

Srg8006 H/FS® S8 ST 0 H005n EogTS éé@@"s&} &HBrAod Hgo
Options :

Borax

e5* 078y

Metal boride

SlpeEaNele)

Boric acid

5708 w50

Boric oxide

5°68 *EE}&

Question Number : 134 Question Id : 1017174454 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Identify the correct statements among the following

a) Cgomolecule has 12 six-membered rings and 20 five-membered rings

b) .H ,CO, / HCO3 buffer systemhelps to maintain pH of blood between 7.26 and 7.42
c)  Graphite is used as a dry lubricant in machines running at high temperatures

Boh T7e8e5° HBEHS DTN oS,
a) CgowenHe® 12 A5 So Seasren 08050 20 HodSol Seosren fam)on

b) 650 ang, pHS 7.26 50050 7.42 © $r65g do0@oSEE H,CO,/HCO3 &35
5358 DI ODNBES08

C) w68 sFko 5¢ HIVoIN ohHoErwsd >k §oBSH R BIDPHDES06

Options :
pab.c

, a.b

3 b.c
4 a.¢C

Question Number : 135 Question Id : 1017174455 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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From the following. identify the reactions which are responsible for depletion of ozone
layer.

Boh TES° L8° FC SOINHELR 570008 I6ged HYobok.

a)  ClO(g)+NO,(g)— CIONO,(g)
CIO(2) + NO, () — CIONO, ()

b) CFClhL(g)—~>Cl(g)+CECl(g2)

CE,Cly () —XCl(a) + CECl(o)

¢) Cl(g)+CH,(g) - HCI(g)+CH;(g)
Cl() + CH, () - HCI(+) + CH; (=)

d)  Cl(g)+05(g) > CIO(g) +0,(g)
Cl(5) + 04 () = CIO(5) + O, (%)

&) ClO(g)+0(g) — Cl(g)+0,(g)
ClO() +O() = Cl() + 0, ()

Options :
, a,c.d

; a.b.c
5 e
4 b.c.d

Question Number : 136 Question Id : 1017174456 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Identify the mitiation step/s (X) and termination step/s (Y) of free radical chlorination of
CH, from the following,

808 ¢3¢ B Do), DI SHES §OIET0eS® S |@rdosfo woBd/en (X) 8050
S0y Swhod wod/en (Y) o HlodSod.

a) CH;+Cl—CH;-CI B E+Cl—Cl=UI
¢ CH,+ClL 3CH,—CI+0 d ClL —2C
¢) CH,+Cl—CH;+HCI f] OOl OO,
Options :
X o
, ¢c.d a.b
X ¥
, b.d a.c.e
X j o
,d.e b.c.f
X > 4
, d a.b. f

Question Number : 137 Question Id : 1017174457 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The alkenes which exhibit cis. trans isomerism from the following are
808 @ J0S* DY, L]y FE)Fgosd ©HEdOBY

3 YXC=CXZ b X,C=CX,
¢) ¥YXC=CXY d YXC=CWZ
&) X,C=CXY

Options :

1 b.d.e
2 a,b

; a.c.d

A .
4, C. Q. gcollegedumas



Question Number : 138 Question Id : 1017174458 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following structures are aromatic?

808 JTETrost A D6°S50¢35?

S
"—_}- . C_)
- e
a b C d e
Options :
[ 8,6€6,€
B k8
; a.b.c
4 b.d

Question Number : 139 Question Id : 1017174459 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The relationship between the radius (r) of the atom and the edge length (a) of the cubic
close packing structure 1s:

SVRIRSTS) Fopta Vo) <’;>U°ésooe‘5‘ D05 TGRS () 00050 woth &d (a) S g

STolhl6]ATABY
Options :
J3
Ir=——uq
1 4
a
=
N 5)
I= i
s W2
a

. 23

Question Number : 140 Question Id : 1017174460 Display Question Number : Yes Single Line Question O~=*== - ®'= 7=*i=-

Orientation : Vertical
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At T(K). the vapour pressure of pure benzene (molar mass =78 g mol™) is 0.85 bar. When
2.0 gofnon-volatile. non-electrolyte solute is added to 39 g of benzene. the vapour pressure

of solution at T(K) 15 0.83 bar. The elevation in boiling point (in K) of the same solution is:

(K;, of benzene is 2.6 K kg mol™)

T(K) 58 H5308 BodS (Srers $Sgo-3 =78 gmol™) eriyndso 0.85 bar. 2.0 go
werie wgS RN EOL0% 39 g © BoAIH Sendi JONE (PSR e ogacézéo
T(K) $5¢ 0.83 bar. & (@Se0 erapefss 38 )8 (K 06°) Jos?

(Bo&S Ky =2.6 Kkgmol™)
Options :

L 0.0784
0.196
, 1.568
, 0.784

-2

Question Number : 141 Question Id : 1017174461 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

At 27°C. two liquids A and B form an ideal solution with mole fractions 0.67 and 0.33
respectively. If the vapour pressure of pure A and B at 27°C are 300 mm and 450 mm
respectively. the total vapour pressure of the solution in mm 1s:

27°C 56 A. B (@aren s66) (@°5:9°0) J8)0a200. ([@520065° A, B © 3G ermen 656
0.67.0.33. 27°C5¢ ¢ A.Bo epé‘gﬁjémw $63m 300 mm. 450 mm =ond (@500
SN0 mobo)dao mm ees*

Options :

| 3495

Question Number : 142 Question Id : 1017174462 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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The conductivity of 0.001 M acetic acid at a certain temperature is 5.07x107> S cmL.
If A9 ofacetic acid at the same temperature is 390 S cm?” mol ™. the dissociation constant

of acetic acid at that temperature is:

28 eris 5¢ 0.001 M J5¢88 w0 aarsdgo 5.07x107° S eml o8 s 5¢

2035 o Ap =390 S cm? mol ! wanBegond wh LS S¢ JE wio DS
W0*080:
@

Options :

; 1.94x107
1.94x1073
1.94x107*
1.94x10°6

L2

Lid

I

Question Number : 143 Question Id : 1017174463 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The time taken for half of the initial amount 0of N>O5 to decompose is 12 min at 310 K and
2 hrs at 300 K. The activation energy of reactionin kJis (R=8.317 K lmol™})

310 K 5¢ N;Os5es608f H508r0 8 &iérds 12 dare stoo H38 300 K 5¢
2 ffotre 5700 HEJobh. & Wog w88 5§ kloe® (R=8.37 K 'mol™)

Options :

1. 177.76
AT o

L-2

Question Number : 144 Question Id : 1017174464 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following statements is not correct?

% 808 DI3C0S® & HBG@ISE 5°¢8?

e

Options :

:
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A muxture of noble gases can be separated by adsorption on coconut charcoal at
different temperatures

2EITSNYHO PEFSTY Sl VDY) s 5 200 wHFTAD HEOH
&0 BEIDEOTE
Animal charcoal removes colours of impure coloured solutions by adsorption process

HOI60H (ErHIre GoiEy 500 o HdT o rodd FMH D @hHTNN
B0 30" 0RO

)

Adsorption of reactants on the solid surface of the catalysts increases the rate of
reaction

HPBS”® 00 & 2) 8\ e GHdkoreD 055t Boiradsen whTino Toddo
agor B3 Bifo D& s

Silica gel and alumina gel are used as adsorbents to increase moisture in air in the
rooms

K0 8305 DoIEVE HOSES, BOrgNIBOON @HIAT N &IBTARH

Question Number : 145 Question Id : 1017174465 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the statements which are not correct.

a)  Copper isrefined by Van-Arkel method

b)  Zinc is refined by electrolysis method

c)  Zirconium is refined by distillation method

DOGHE DI3T0en 57D HYobok.

a) sH06% 7I-u0) S HYES® HY DAL®

b) 208 dehogE TN HEBS® HE VI,

C) &) I00DH WES HPBS® HY DTDH
@ @ =

Options :

{ a.b

» a,b.c
3:@5C

4 b.c

Question Number : 146 Question Id : 1017174466 Display Question Number : Yes Single Line Question O
Orientation : Vertical gcollegeduma
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In which of the following reactions. NO» 1s not liberated?

Bod S6goe® BAST NO, Do 5760?
Options :

Zn +(dil)HNO; —
| Zn +( 985 )JHNO; —

I, +(conc.)HNO; —»

I, +(m ) HNO; —

Cu +(conc.)HNO; —

; Cu +(7m¢ )HNO; —

C +(conc.)HNO; —

4. C +( ¢ JHNO; —

Question Number : 147 Question Id : 1017174467 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following statements 1s not correct?

Bob DG B HOGSEH §°¢0?
Options :
Both rhombic and monoclinic sulphur are soluble in CS,

; 0°0&§ 005N IrTENT Henben CS; e §brdd
Both thombic and monoclinic sulphur contain Sg rings

al

-

0088 Ho005n FrIEIS HeyGes” Sg Se05ren €roérow
SO, 1s soluble in water

3 SO, A8S® 8D

S, 1 vapour state 1s diamagnetic

) RNSS® Sy B0l ©oHIY 0L Fumyd) EOA 5000h

Question Number : 148 Question Id : 1017174468 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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Xe (g) and F> (g) reacted in the ratio 1 : 20 at 573 K. 60-70 bar. to form A. When A is
completely hydrolyzed. B and HF are formed. A and B are respectively

573 K. 60-70 &6 3¢ Xe () 0050 Fy (o) en 1:20 d5865° S63F0h A Ddo)ﬁii)a’ox;.
A S o aasi)gésoo maoddyd B Sodasn HF en Ddgago;a. A S08050 B e 5804

Options :

- XeF,. 0,
XeFg, XeOs

~ XeFy, XeOF,
- XeF4. XeO,F,

1

L2

I

Question Number : 149 Question Id : 1017174469 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Cu?* does not form Cu L. This is because Cu®*

Cul, % Cu**Q6y6se. docsod Cu?*
Options :
reduces I to >~

L I8 P e 05860 maoshids

undergoes self oxidation and reduction to form Cuand Cu’*
930500 w§E60 SBa%H B0 FoHEG0 Tod CuHdosn Cut ok EYKHBB
oxidizesI" to I,

; I & L es§i86e00 mHodHid

1s unstable i water

NE3S* QTS

Question Number : 150 Question Id : 1017174470 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The complex which does not exhibit geometrical isomerism is

B8 P50 1BE8oED Ho3o
Options :

) | Co(NH; )€1 |cl,

:
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ﬁ [::*m(NHEi L sz]

) | Co(NH;), (NO,), |

X |:CD (en), Cfg]Cf

Question Number : 151 Question Id : 1017174471 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the monomer that can undergo polymerisation by free radical. cationic and anionic
mechanisms.

0T (@PEDHHE, SLOIr)S B0 eSardE Yoy ardo a%or FO008800 Bod
ArStH6H Hdokod

Options :

Vinyl chloride
236 §06
Acrylonitrile

= 3 = =
JESIBS

L2

[sobutylene

; s;—éjﬁangéﬁéiﬁ

Question Number : 152 Question Id : 1017174472 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Which of the following statements are not correct?
Bo& DB5BeS® HHGSI FAD I?

a) Antihistamine also functions as an antacid
O3ro3ErRS, B JGHMT SrE HAVANS

b)  The shape of an active site of an enzyme does not change when the drug binds to an
allosteric site

060 Qeﬁ‘?ﬁgt‘@ L) eED0DHYW, QOB (§03rRD L0 GoE), 5o Srdh

-~

¢) Chemical messengers communicate the message between two neurons

Dotk TRET o 3065 DT 226370000 FF0HA SIrwrd (rirsTe oo 2E0HDO

d) Potassium soaps are hard. while sodium soaps are soft to skin

So08 Erncso dagen A, FGchHo JSagen DETD ok

The correct answer 1s
3B HIrgrdo

Options :

, a.b.d

w00 d
3 a.C

4 C.d

Question Number : 153 Question Id : 1017174473 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Consider the following structure.

8o Q072050 H83D0HSL

~

For codeine R stands for

?g%ﬁ*’ R &5 300050868

Options :
;. —OAC
1, —OCH;
;3 —OH

4 —NHy

Question Number : 154 Question Id : 1017174474 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Match the following

List-1 List-1I
a) VitaminE 1)  Meat
b) Vitamin K 11)  Sunflower oil
¢) VitaminB; ii1) Egg white
d) VitaminB, 1v) Exposure to sunlight

v)  Green leafy vegetables

Bod TEI 2SEHETHI0

rde -1 erd)a -1
a) DdLMISE 1) Srodo
b) dbHISK 11) FRBOHE Fo I
C) DS Bp i) Hd) 8o >
d D813 B, V) $rdgsrode® deedio

V) sHHHT esHSrsen

The correct answer 18

HOGHE DIPTHB0

Options :
(a) b () (d)
| i ij iv i
(a) (b) (c) (d)
) 11 v 1 i1
(a) (b) (c) (d)
, i ii v
@ (® (0 (d)
, v i v ii

Question Number : 155 Question Id : 1017174475 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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Which of the following reasons support that arylhalides are less reactive than alkyl halides
towards nucleophilic substitution reactions ?

a)  The formation of more stable arenium ion

b) Partial double bond character of C —X bond

c) Longer C—Xbond

d) sp” carbon bonded to X. is more electronegative

& 80b @ S0 S9 uF S FBEe o8 VS FBE SrgEBrHO§ (HETHn Ioge

a_

DE) SE S SogBOSD [HEB)00?

) QOFS 2000 WIS B0

b) CXwomrds r§s Bg206 HearsSo dodkdioo

¢) &dE3S C—Xwogo roKkio

d) X & 200828 p? 5658, HpItgmd)$s wHsomr &okio

Options :

1 a.b
2 B,

; b.d
4 a.d

Question Number : 156 Question Id : 1017174476 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The major products A and B in the following reactions are respectively

Bob SEgoS” HErS edyonen ASH0o5w B oo S6Hdm

" Cly hav

) D 2
CH,

i) ©/ I : S

Options :

:
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Cl

; d
A
Cl
Cl I‘;E Cl CH,
(5
Cl cl
4 Cl

Question Number : 157 Question Id : 1017174477 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The compound formed when propanone 1s made to react with ethyl magnesium bromide
followed by hydrolysis is

@IS &3S DAcHo BTNES SgTohod, & Sogd BOIITAN0 I udo)c&)
HA¥S0,
Options :

2-Methylbutan-2-ol

2-036 ewgéﬁ -2-8,65

:
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Pentan-2-ol

" W0ED-2-8.6

2-Methylpropan-2-ol
, 2035 @ Dd-2-66
3-Methylbutan-2-ol

, 3-036 mgﬁﬁ-}&ﬁ

Question Number : 158 Question Id : 1017174478 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Whatare A. B, C and D in the following reactions?

806 Sdgoe® A. B, C 508050 D e 99?

Aniline—NN0HC (A B | phonol
273K i

1) DT DT

Cumene—22—C—L2_ Phenol + acetone

i) s DTS JHETS
Options :

A B C D

CH,
& H3C‘-CI’—OH
623K/300 atm @ H,0,

1

A B C D

NHOH OCH (CH;),

NaOH a3
H® /H,0,

:
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oW [

=

2'®

B C
H,C-CH-CH,00H
@
H,0
B C
CH,
I
H,C-C-OO0H

Warm H,O
3o H,O

|

H,0,

|»)

H¥ /H,0

Question Number : 159 Question Id : 1017174479 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

Identify A and B in the following reactions

Sod F6gwes® Adodosn B odo fHgodHSn

R -CHO—2 >R —CH,0H«>2—R -COOH

Options :

A
NaBH,

H,|Pd
SnCl,

NaBH,

o>

H,|Pd

Lo

[

SnCl,

B
H,|Pd

e
) LiAlH, i) HO
1\11102

SnCl,
B

+
i) LiAlH, i) H;O
B
MO,

:
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A B
NaBH, SnCl,

Question Number : 160 Question Id : 1017174480 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

NH»

1> / 2 > l al ’7‘/ >
B /HyO ,  ()NaNO, /HC!

C,HsOH

273-278K

Identify Z in the above sequence of reactions

) Forg800es® Z & Hgowhsn

Options :
OH

Br Br

L Br
OH

O,N NO,
7 NDZ

Br Br
3 Br

NH,

4 QOC,H;

:
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